®3—2 HERFRAOFTHHEFK OKF)

RERR | RREHE =0 = = =5
Rt RER | mEEG | A | BEEG | GRE | REED | RER | SEE0
dtimE 14 2 0 0.0% 2 100.0% 0 0.0% 0 0.0%
AR 5 SEEOFEEBMERZL
EFR 22 7 6 I 85.}7% 1 14.3% 0 0.0% 0 0.0%
EHE 15 15 1 ’ﬁ 6.7% 8 53.3% 6 40.0% 0 0.0%
AR 2 SEEOFEEBMEREL
iz 4 4 4 10004 0 0.0% 0 0.0% 0 0.0%
=EEE 11 SEEOFHEEBMERZL
= 10 4 0 0.0% 3 75.0% 1 25.0% 0 0.0%
1 1 0 0.0% 0 0.0% 1 100.0% 0 0.0%
3 3 o 667w 1 33.3% 0 0.0% 0 0.0%
8 8 8[:' 100.0% 0 0.0% 0 0.0% 0 0.0%
20 20 s | 150% 17 85.0% 0 0.0% 0 0.0%
15 6 0 0.0% 5 833% 1 16.7% 0 0.0%
0 ERE R RERAEL
45 10 s | 300w 1 10.0% 6 60.0% 0 0.0%
4 4 0 0.0% 1 25.0% 3 75.0% 0 0.0%
2 1 1 1000% 0 0.0% 0 0.0% 0 0.0%
2 SEEOFEERBMEREL
9 9 o 1000v| 0 0.0% 0 0.0% 0 0.0%
8 8 s%l 100,04 0 0.0% 0 0.0% 0 0.0%
0 ERE R RERAL
28 28 6 | 214w 3 10.7% 19 67.9% 0 0.0%
16 16 s | s00% 8 50.0% 0 0.0% 0 0.0%
12 12 0 0.0% 9 75.0% 3 25.0% 0 0.0%
0 RE R RERAEL
0 EE R RERAEL
20 20 sl|  150% 7 35.0% 10 50.0% 0 0.0%
20 20 0 0.0% 20 100.0% 0 0.0% 0 0.0%
0 EE R RERAEL
20 S FEDFBEEHERLTL
3 SEEOFHEEBMEEZL
3 SEEOFHEERMEEZEL
25 1 1 10004 0 0.0% 0 0.0% 0 0.0%
0 ERE R RERAL
2 SEEOFEERMEREL
22 4 0 0.0% 4 100.0% 0 0.0% 0 0.0%
20 20 130 650% 4 20.0% 3 15.0% 0 0.0%
7 24 SID 20.8% 8 33.3% 11 45.8% 0 0.0%
24 S FEDFBEREHERLTL
21 S FEDFBEREHERLTL
32 32| 1 ||] 3_1%| 26| 81.3%| 5| 15.6%| 0| 0.0%
3 SEEOFEERBMEREL
14 12] I ses 4 3334 1| 8.34) of 0.0%
1 SEEOFEEBMEREL
8 SEEOFEEREMERZEL
35 35| 10|D 28.6%| 20| 57_1%| 5| 14_3%| 0| 0.0%
0 ERE R RERAEL

536 326 ool | 304 152| 46,64 75| 23,04 0| 0.0%




